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160. outside the bright primary rainbow, ------------- much fainter secondary rainbow may be visible. 7

a) so
b) a
c) since

d) stil

159. Indigo is a vat color, ------------- called because it does not dissolve in water. 8

a) which is

b) it is

c) but

d) so

158. Some snakes lay eggs, but others ------------- birth to live offspring. 9
a) give

b) giving

c) they give

d) to have given

157. Often invisible, always in motion, gas is ------------- of matter. 10
a) the state is most energetic

b) stating the most energetic

c) the most energetic state

d) the state that most energetic

156 . The face is the most------------- of a human being. 11
a) part is distinctly

b) distinction in part

c) distinctive part

d) part of distinction

155. Oil spills are having a devastating effect on coral reef. 12
a) handicapped

b)destructive

c)magnificent

d)preserving

http://test.occupationalhealth.ir/admin/questions.php?op=print&tid=2 2/24



11/20/2018 ) Ab oy il oadiga 2 ) (e 31 Sl G gl

154, Exports were impeded because of the depression dominating the country.
a) maintained

b) hindered

c)contended

d)deterred

13

a) pacify
b) countermand
c)evaporate

d) reckon

153. Scientists -------------- that there has been life of some sort on the earth since millions of years ago.

14

152. Since he was born, he suffered from ------------ deafness.
a) homogeneous

b) uniform

) succeeding

d) congenital

15

151. Proposals to increase taxes usually ------------- strong resistance.
a) evoke

b) execute

c) banish

d) dig out

16

150. A simple meal of bread and milk was all the poor family could------------- .
a) affirm
b) afford
c) affect

d) afflict

17

a) acceded
b) proceeded
c)retracted

d)diminished

149. The committee------------- that she should be given time to comply with the request.

18

148. This morning’s rain was-------- , starting and stopping several times.
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a) lenient
b) intermittent
c) conducive

d) engaged

147. She is not really ill, it is only--------------- 20
a) pretence

b) conception

c) concession

d) persuasion

146. The audience broke in to ------- as the old singer slowly climbed the stairs. 21
a) tribute

b) applause

c) compliment

d) encouragement

145. Though I tried to forget the incident, I couldn’t -------------- it from my mind. 22
a) occlude

b)obtrude

c) obliterate

d)oppress

Part two: Vocabulary Questions 23
Directions: Complete following sentences by choosing the best answer.

144, Blood from the veins, high in carbon dioxide but---------- , returns to the right atrium of the heart.

a) Being low in oxygen
b) low in oxygen it is
c)is it low in oxygen

d) low in oxygen

Passage 3 24

143. the relationship between nerve growth factor and a protein is similar to the relationship between Alzheimer’s and:
a) forgetfulness

b) a disease

c) a cure

d) a cancer
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Passage 3 25

142, Which of the following could best replace the word “potential” in line 14?

a) possibility
b) capability
c) dependability

d) creativity

Passage 3 26

141. Which of the following is the closest in the meaning to the word “deterioration” in line 14?
a) depression

b) deduction

c) decline

d) disconnection

Passage 3 27

140. The passage most closely resembles which of the following patterns of organization?
a) chronological order

b) statement and illustration

b) cause/ effect

d) alphabetical order

Passage 3 28

139. Which of the following can be inferred from the passage?

a) Alzheimer’s disease is deadly.

b) Though unsuccessful, the experiments did show some benefits derived from nerve growth factor.
c) The experiments did not show any significant benefits from nerve growth factor.

d) More work needs to be done to understand the effects of nerve growth factor.

Passage 3 29

138. Which of the following could best replace the word “reverse” as used in line 8?

a) foster

b) prompt

c) override

d) match

Passage 3 30

137. Which of the following is closest in meaning to the underlined word “doses"?

a) measures
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b) pieces
c) injections

d) stipends

Passage 3 31

136. Which of the following is closest in meaning to the word “region” as used in line 4?
a) vicinity

b) plain

C) expanse

d) orbit

Passage 3 32

135. According to the passage, where is nerve growth factor produced by in the body?
a) in nerve cells in the spinal column

b) in red blood cells in the circulatory system

c) in nerve cells in the brain

d) in the pituitary gland

Passage 3 33

134. The word “impairs” in the line 1 is the most similar to which of the following?
a) affects

b) destroys

c) enhances

d) diminishes

Passage 3 34

Alzheimer’s disease impairs a person’s ability to recall memories, both distant and as recent as a few hours before. Although there is not yet a cure for the illness,
there may be hope for a cure with a protein called nerve growth factor. The protein is produced by nerve cells in the same region of the brain where Alzheimer’s
occurs. Based on this relationship, scientists from the University of Loud in Sweden and the University of California at San Diego designed an experiment to test
whether doses of nerve growth factor could reverse the effects of memory loss caused by Alzheimer’s. Using a group of rats with impaired memory, the scientists gave
half of the rats doses of nerve growth factor while giving the other half a blood protein as a placebo, thus creating a control group. At the end of the four- week test,
the rats given the nerve growth factor performed equally to rats with normal memory abilities. While the experiments do not show that nerve growth factor can stop
the general process of deterioration caused by Alzheimer’s, they do show potential as a means to slowing the process significantly.

133. With what topic is this passage mainly concerned?
a) Impaired Memory of Patient

b) Cures for Alzheimer’s Disease

c) The Use of Rats as Experimental Subjects

d) Nerve Growth Factor as a Cure for Alzheimer’s
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Passage 2 35

132. The main idea of this passage is that

a) birds are built the same as other creatures.
b) birds are built to fly.
c) birds need to migrate to survive.

d) birds need to be told when to migrate.

Passage 2 36

131. The word “faculty” in line 6 most nearly means
a). strength
b). knack

c). endowment

d). ability

Passage 2 37

130 . Which of the following would best follow this passage?
a) A specific discussion of migratory flight patterns

b) A description of how birds fly

c) A discussion of when birds return to their summer homes

d) A discussion of birds feeding patterns

Passage 2 38

129. Which of the following is implied by the passage?

a) Because birds have not properly adapted to changes to changes in climate, they are forced to endure cold winters.
b) Each individual birds has its own pattern of migration.
c) The migration of birds is a “social” undertaking.

g) All birds fly south for the winter

Passage 2 39

128- The best title for this passage would be
a) The Migration of the Hummingbird

b) How Bird Fly

c) The Annual Migration of Birds

d) Courting and Mating Rituals of Birds
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Passage 2

127- In the line 8, “phenomenon” most nearly means
a). miracle

b). event

c). Celebration

d). milestone

40

Passage 2

Humans have long been studying the flight of birds and trying to imitate it. Not until the twentieth century did engineers fully understand the principles of flight that
birds have been using for millions of years.

Birds are adapted in their body structure, as no other creatures, to life in the air. Their wings, tails, hollow bones, and internal air sacs all contribute to this great
faculty. These adaptations make it possible for birds to seek out environments most favorable to their needs at different times of the year. This results in the
marvelous phenomenon we know as migration_ the regular, seasonal movement of entire population of birds from one geographic location to another

Each year, with great regularity, most species of birds return to their summer homes, court and choose mates, build their nets, lay eggs, and rear their young. In the

late summer and fall they acquire their new plumage. Then they join with others of their kind in large and small flocks, feeding and storing up fat in their bodies. Thus
they prepare for the hardships of winter, whether they remain in the cold northlands or make the strenuous journey to the south.

126- Which of the following is NOT an activity of birds in the summer?
a) Building nests

b) Laying eggs

c) Traveling southward

d) Choosing mates

41

Passage 1

125- What was the topic of the paragraph that preceded this passage?
a) the eye

b) heart disease

c) ulcers

d) fear

42

Passage 1

124- Noise is............c.....

a) not a serious problem today

b) ametria’s number- one problem

c) an unavoidable problem in an industrial society

d) a complex problem

43

Passage 1

123- It can be inferred from this passage that the eye
a) respond to fear
b) enjoys greater protection than the ear

c) increases function

http://test.occupationalhealth.ir/admin/questions.php?op=print&tid=2
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d) is damages by noise

Passage 1 45

122-According to the passage, people respond to the loud noises in the same way that respond to
a) annoyance

b) danger

c) damage

d) disease

Part One: Reading comprehension Direction 46

Read the following passages carefully. Each passage is followed by some questions. Complete the questions with the most suitable words or phrases (a, b, ¢, or d)
below each one. Base your answers on the information given only.

Passage 1

Unlike the eye, the ear has no lid; therefore noise penetrates without protection. Loud noises instinctively signal danger to any organism with a hearing mechanism,
including human beings. In response, heartbeat and respiration accelerate. In fact, there is a general increase in functioning brought about by the flow of adrenaline
released in response to fear.

Because noise is unavoidable in a complex, industrial society, we are constantly responding in the same ways that we would respond to danger. Recently, researchers
have concluded that noise and our response may be much more than an annoyance. It may be a serious threat to physical and psychological health and well-being,

causing damage not only to the ear and brain but also to the heart and stomach. We have long known that hearing loss is Ametria’s number one nonfatal heath
problem, but now we are learning that some of us with heart disease and ulcers may be victims of noise as well.

121- What is the author’s main point?

a) noise may pose a serious threat to our physical and psychological heath
b) loud noises signal danger

c)hearing loss is Ametria’s number one nonfatal heath problem

d)the ear is not like the eye
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